Santana TurboDryers (Old models)

(Models: FO1, FO1-SP, FO1-HP, F01-220V, F34, F35, F161, F75)

Symbol Definition

- multiple components to choose from for different models: voltage, size, color, et

- if you order this item, you may need to order additional items marked with same number of +'s in order
to upgrade or complete repair

Find# Part Description Specifications/Model Part # Qty
2|Cord Strain Relief Black Molded 02-00005 |ea.| 1
27|Switch, Single Rocker Non-Lighted, Santana (2 contacts) 02-00012 [ea.| 1
29|Connector Nylon Full, Insulated 90 Degrees 02-00133 |ea.| 1
Connector - dual Piggyback Disconnects 02-00134 |ea.| 1
Connector - HP Full Insulated Str. 16-14x.250" 02-00135 |ea.| 2
5(Washer Back-up Rivet, 3/16" 03-00013 |ea.| 23
Nut - Motor Mt. OOH 1/4 - 20 SS Nyloc 03-00017 |[ea.[ 4
8[Washer, Motor Mount 1/4 - 5/8 SS 03-00018 | ea. 4
7|Rivet, Motor Mount 1/4" x 1/2" Stlzp. 03-00022 | ea. 4
11|Screw, Side Screen #8-2.3" SS Pan 03-00023 | ea. 8
12|Rivet 3.16" x 12" A1/A1 03-00030 ([ea.| 13
17|Rivet, Bottom Trim 03-00032 | ea. 4
23|Washer, Rivet 1/8", Quick-Stand 03-00035 | ea. 4
24|Rivet, Quick-Stand 1/8" x 1/2" A1/Al 03-00036 |[ea.[ 4
4|Rivet (Capacitor Box) 3/16 A1/Al Anod Sht. 03-00037 |[ea.| 4
Bolt - Motor Mt. OOH 1/4 - 20 - 3/4 Hex Head 03-00139 |[ea.| 4
Plastic Bag Repairs 06-00045 |[ea.| 1
Manual Owners, 115v 07-00106 | ea. 1
20|Label Warning, TurboDryer, Indoor/Outdoor 07-00109 | ea. 1
25|Capacitor 5.0 MFD, Santana (1/3 HP Motor) 09-00012 [ea.| 1
1{Power Cord 25" Molded Plug 115V 09-00046 |[ea.| 1
6|Motor Kit w/ Hardware 230V (Retro) (FO1-220V) S120 ea.|] 1
6|Motor Kit w/ Hardware 1/4 HP Motor Santana E 1-spd (F161) S166 ea.|] 1
Santana (F01) Page 1 of 2




Santana TurboDryer Pictorial Drawing

V10 X089 0L Jvdy)
SOV JLIHN

SOVT 01N

SOvVT AvTH
STV

N 7\

00T,

A o

J X

NONARC),

W3IA WOLLDS WLV (1) (vl

IIA INDH

(1) (X8

IHIA 0TS [T

o 0 o)

Page 2 of 2

Santana (F01)



